[> #Please do not post homework
#Shreya Ghosh, 10-25-2021
>
| > read "/Users/shreyaghosh/Documents/M15.txt"

> Helpl5()

HW3(u,v,w), HW2(u,v) , Dis1(F,y,y0,h,A), ToSys(k,z,f,INI)
> #2ii
ToSys(4,z, z[1]+2-z[2]+ 3-z[3] + 11-z[4] (L5, 5,2])

z[1]+z[3]
Zl+222+323+1124 ]
R E AR

zl—i-z3

> Helpl3( )

RT2(x,y,d,K), Orb2(F,x,y,pt0,K1,K2), FP2(F,x,y), SEFP2(F,x,y), PlotOrb2(L), FP2drz(F,x,y),
SFP2drz(F,x,y)
> #3.

Orbk(2,z, (1 — z[1])- (1 — z[2]), [2.5, 2.7], 1000, 1010)
[0.3819660113, 0.3819660113, 0.3819660112, 0.3819660113, 0.3819660113, 0.3819660112,

0.3819660113, 0.3819660113, 0.3819660112, 0.3819660113, 0.3819660113 ]
(> ToSys(2,z, (1 —z[1])- (1 — z[2]), [2.5,2.7])
[(1=2) (Y =) 2]

(> SFP2([(1 —x)-(1 —y),x],x,y)
[[0.3819660113, 0.3819660113 1]

> #1i
evalf(dsolve({dzﬁ‘ =(5—=x())(2—x(2))- (5 —x(¢#)),x(0) = %},x(t)))
x(t) =

l RootOf( Ine? — ln(e—Z+3)e—Z+7Ze —9teZ+2eZ+3)

> evalf(dsolve(

/—/—\

+5.
=(5—x(1))-(2—x(1))- (5 — x(1) :%} ))
)+,

): RootO/( Ime? — ln(efz+3)efz+_Ze —9teZ+ZeZ+3

> plot( RootOf( Ine? —ln(efz—i- 3)efz+_ZuZ—9tefz+2efz+ 3)+5,t=0..5)

sequence is correct

Warning, unable to evaluate the function to numeric values in the
region; see the plotting command's help page to ensure the calling
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> #lii

| > #maple is not allowing me to plot the functions

Plof(Disl((5 —y(0)) (2 =x()-(5—x(1)),

7
—,0.1,5
ya 29 )

)



b, A A Ao oo
AA |aa: u® | AA oy Aa. O Upar = u:-l- u,v,\*"%c'\':
L
Ao 0 |Aa: vV Ra: BUW | Vne T Wt Qund WA L Ve
(LI aa: O aa' 0 W™ T VS We
v&
Ao |pa v [an o AN O
Vﬁ
Aa: UV Aa: "2 As. vw
vﬁ
aa' O aa: 4 aa. VW
0.4 |AA:O AA O AA-O
Ao: Buw  |Aet vi A0
aa: 0 aa’. v ca: w>
Ab > Aea
AL~ oa
Aa*Aa
Arx * ao

2.4) aln) = atn=1)*22(n-3V+3,(n-3)* lla(n-4) a(0)=1, 2L1)=5 2 (a)=5,a(3)=2

Aln-1) + aln-3)
a,(n) = F[rn,(n—n,al(n—a), 2,(n-3), 1, (n—u)]
(o) = 2, In-1) D (n-1) =7, (n-2)
a,(n) = a, (n-X) D a5 (n-1) =a,(n-3)
072 (n=3Y> 2, (n-1) =2 [n -4)
a,(n)= F[m, (h-1), A, (n=1), 2y (n-1), 2, (n-l)_]
a,(n) = 4 (n-1)+ 2z, =) * 3a, (n-1) * llq(n-1)

2,tn-N * A (n-1)



